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NEW QUESTION 171
What is the purpose of ACL type prefix set entriesin RPL prefix sets?
A. They hold IPv4 or IPv6 prefixes that do not match specifications.
B. They hold IPv4 or IPv6 prefix match specifications.
C. They hold IPv6 prefix match specifications.
D. They hold IPv4 prefixes that do not match specifications.

Answer: B

NEW QUESTION 172

An ISP hasan MPLS VV PN-based network with 12 PE routers. How many peerings are required between the 12 routersif the
engineer has not configured route reflectors?

A. 60

B. 66

C. 78

D. 8

Answer: B

NEW QUESTION 173

Which type of BGP attribute does a route reflector attach to routes learned from iBGP peers that allows them to be accepted by other
iBGP peers, thereby eliminating the need for a full-mesh BGP topology?

A. well-known mandatory

B. optional transitive

C. weéll-known discretionary

D. optional non transitive

Answer: D

NEW QUESTION 174

What is arequirement of PIM-SM?

A. It requires Cisco Express Forwarding to be enabled.

B. It must be enabled on loopback interfaces only.

C. Itrequires OSPF to be configured on the network.

D. It must usean RP.

Answer: D

NEW QUESTION 175

An engineer warns to map amulticast | P address to a multicast MAC. How many bits are used to make the conversion?
A. high-order 24 bits

B. higher-order 23 bits

C. low-order 23 bits

D. lower-order 24 bits

Answer: C

NEW QUESTION 176

How does SRv6 function on the control plane?

A. It enables SRH-capable nodes to terminate |Pv6 packets at the network egress to carry the SRv6 locator.
B. Theingress node of the SR domain adds a uSID format |Pv6 header to carry the SRv6 locator.

C. Theingress node of the SR domain swaps the SRv6 header for the IPv6 header.
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D. Theegressnode of SR domain imposes a new outer header.

Answer: B

NEW QUESTION 177

What is a characteristic of a segment routing mapping server?

A. It must be placed in the core of the network.

B. It servesmultiple VRFs.

C. It must have an IGP adjacency.

D. It applies SID mappings from one IGP instance to another IGP instance.

Answer: C

NEW QUESTION 178

Which difference must an engineer consider when Implementing Inter-domain and Intra-domain multicast routing on the network?
A. Intra-domain routing allows the service provider to control incoming and outgoing multicast data streams on its network, but
inter-domain routing limits the service provider's control.

B. Intra-domain routing uses the PIM and MBGP protocols for multicast routing, but inter-domain routing must use PIM.SSM or
MSDP.

C. Intra-domain routing is dependent on the RP router within the same SP network, but inter-domain routing reduces the
dependency on the other SP network.

D. Inter-domain routing supports policy routing to connect different multicast domains using PIM.SM, but intra-domain routing
supports policy routing using PIM-SM only within a single domain.

Answer: C

NEW QUESTION 179

Refer to the exhibit:

A network engineer just replaced five routers on this OSPF network. When the routing protocol is brought up, R5 cannot reach
routes that originate on R1. The engineer verified that all connected links have established neighbor relationships. R5 reaches routes
originating on R3 and R4. Which action resolves the issue?

A. Configure an OSPF virtual link to bridge Area O on routers R3 and R4.

B. Configure automatic neighbor discovery on Rl and R5.

C. Configure OSPF to have a contiguous Area O.

D. Configure each link to be point-to-point.

Answer: A

NEW QUESTION 180

Refer to the exhibit:
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A service provider has LDP and segment routing running in the network. Mobility traffic is carried through LDP and enterprise
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traffic is carried through segment routing. Which configuration must be implemented to connect the bank branch with the HUB site
on routers?

A. Configure segment-routing sr-prefer prefix-list on AGI and AG2 router for 10.10.10.10/24.

B. Enable segment-routing mpls sr-prefer on CRI and CR2 routers for 10.0.0.0/8.

C. Enable segment-routing mpls sr-prefer on AGI and AG2 routers for 10.0.0.0/8.

D. Configure segment-routing sr-prefer prefix-list on CRI and CR2 routers for 10.20.20.10/24.

Answer: D

NEW QUESTION 181

Refer to the exhibit:

LIRLR ) }
—— J o
| it f 3
TTICFONT - i r‘ =2,
_._/l _._.' e e r-J "‘11_.-"’_;"|7 ;::" 4(-

- PO Pees
PR
- iR e B

L L MR Al M- S, Chia TSR ARAIELT1. 0
B ARR e et 334 e

¥
=

2218
SELATAL i S Kt 2 T
Lo fwwm 0.0 8 8 Baw dmenlia ae 152 Taa

R21 isamulticast source sending multicast traffic 224.1.1.1 to R23, with RP22 serving as the rendezvous point inside AS65222. A
network engineer noticed that when R21 goes down, R12 in AS65111 starts to send the same multicast group 224.1.1.1 through
RP11. Which action resolves the issue?

A. Block service groups 224.0.1.39 and 224.0.1.40 between the two autonomous systems.

B. Disable PIM parse mode between RP11 and RP22 in the two autonomous systems.

C. Advertise RP2 with ahigh local preference in AS65222.

D. Enable passive intertaoe under EIGRP between the two autonomous systems.

Answer: A

NEW QUESTION 182

Refer to the exhibit:
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Users at the branch office on R1 reported issue with an application at the home office on R4. While troubleshooting the issue, a
network engineer determined that. The branch-office users can connect to the home office. The | S-S adjacencies between R1 and
R2 and R1 and the branch office are up. Traffic from R1 to the R2 10.20.1.0/24 network is moving normally. The application at the
home office is experiencing packet drops on the connection to the Branch, and R3 cannot reach the R1 172.16.10.0/24 network.
Which action resolves the issues?

A. Redistribute static connected routesin 1S-1S on router R1.

B. Configurethe SIS core instance on the Rl GigabitEthernet0/3 interface.

C. Redistribute static connected routesin 1S-IS on router R4.

D. Configurethe IS-IS coreinstance on the R2 GigabitEthernet0/1 interface.

Answer: B

NEW QUESTION 183

Refer to the exhibit:
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A network engineer configured three new PE routers to expand the network. The new routers run in the | S-I'S routing protocol and
reside in the data center in the same exchange as the existing routers. However, the network is now experiencing suboptimal routing.
The Layer 2 configuration and VLANSs are configured correctly to provide segregation between networks, but the Level 1 routes are
not being converted to Level 2 routes. Which action resolves the issue?
A. OnRouter 1, redistribute the routes into |GP.
B. On Router 1, summarize internal routes between aress.
C. On Router 2, redistribute the routes into IGP.
D. On Router 2. summarize internal routes between areas.
Answer: D
NEW QUESTION 184
Lab Simulation 1
Guidelines Topology Tasks
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Guidelines Topology Tasks

Troubleshoot and configure BGP according to the topology to
achieve these goals:

1. R1 and R3 establishes IBGP connectivity using
Loopback addresses. The updates should come from
LoopbackO0.

2. R3 should be able to ping loopback0 interface of R2.
These changes must be accomplished through BGP.

3. R1 advertises only the summary route of
172.16.100.0/22 to R2 and R3. M
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Answer:
-R1
Router bgp 100

Neigh 10.3.3.3 remote-as 100

Neigh 10.3.3.3 update-source loopback0

Address-family ipv4

Neigh 10.3.3.3 next-hop-self

Aggregate-address 172.16.100.0 255.255.252.0 summary-only
Copy run start

-R3

Router bgp 100

*kkkkk*k

Neigh 10.1.1.1 remote-as 100

Neigh 10.1.1.1 update-source loopback 0

*kkkk*k

Copy run start

- Verification:

R34t

NEW QUESTION 185
Drag and Drop
Drag and drop the features about multicast from the left onto the multicast protocols on the right. Not all options ate used.
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Its mroute entry is (*,G) in most environments. |

‘ Its mroute entry is (5,G). |

The recewver becomes aware of the sender only when it receives
a message.
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wants to receive traffic.

It uses IGMPV3, |

|
|
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It uses IGMPv2. I

Answer:
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Its mroute entry is (5,6).

It uses IGMPV3.

The recewer becomes aware of the sender only when it receives
a message.

The recewver specifies the multicast addresses from which it
wants to receive traffic.
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Its mroute entry is (*,G) in most environments.

|

It uses IGMPv2.

NEW QUESTION 186
7?
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